INTEGRALRECHNUNG - GRUNDLAGEN
UNBESTIMMTES INTEGRAL
ff(x)dx =F(x)+C

f(x) =4x? +5x — 20
f(x) = 4x% + 5x } - f'(x)=8x+5
f(x) = 4x? + 5x + 10000

f(8x + 5)dx = 4x? + 5x+?

BESTIMMTES INTEGRAL
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INTEGRALRECHNUNG - INTEGRALREGELN

Regel

Konstantenregel

f(x)

fGx) =c

F(x)

F(x) =cxx

Potenzregel

fx) =x"

F(x)={n+1

]
( n+—1

kln(x) n=-1

Exponentialregel |

flx) =e*

F(x) =e*

Exponentialregel Il

f(x) =a*

X

Fi) = In(a)

Logarithmusregel |

f(x) =In(x)

F(x) =xx*In(x) —x

Logarithmusregel Il

f(x) = “log(x)

Sinusregel

f(x) = sin(x)

Cosinusregel

f(x) = cos(x)

F(x) = sin(x)

Summenregel

f(x) =g(x) £ h(x)

F(x) =G(x) £ H(x)

Faktorregel

f) =kxg(x)

F(x) =k *G(x)

Partielle Integration

[+ 9@ dx = PG + 900 - [ (PG + g/ ax
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INTEGRALRECHNUNG - FLACHENBERECHNUNG

FLACHE ZWISCHEN FUNKTION UND X-ACHSE

[rwax=re? =ro) - F@

f(z) =022 — 2,427 + 6.42

/(02m3—24x + 6.42)dx = 12.8

8

/(029;3—2495 + 6.42)dr = —12.8

4 /

FLACHE ZVVISCHEN FUNKTION UND X-ACHSE

ff(x) dx — fg(x)dx—f(f(x) g(x)) dx

N

\ 6
/ (—2® +6.52 — 8)dr = 2.67
‘\ 2

6
/ (— 1.5z +4)dx = -8
2

2.67— (—8) = 10.67
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